2 =5

2025 MFEA H£HLELEHER: FHRHEFI
RERE 1
11 |0.00,1.00000,0.00000,1.00000,-0.00000

x1_new = x1 + h*dxdt(1, t, x1, x2);

i 2

x2_new = x2 + h*dxdt(2, t, x1, x2);
i3 t=t+h
4 | FHRERE MR, 2L

i 5

WDy B TR E




plil.seqlj] == essential AAs[k]

i 2

T @QOEFHL D a— K
fprintf(fp, "%s¥n", plil.name);

AN

T T LSDBMB LB — R

UTFToa— Kz, THila)x &L for XOMIBMT 5,

EBXIALH T 74 VDA —7 > : FILE *fp = fopen("output.txt", "w";
T ANDY a—2R : fclose(fp);

A

fil 3

arr[j]l.count > arr[j+1].count

fil 4

INT )Y — b

fil 5

0(n?)




